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E=FE, sink-r+wit+¢,)
E=E,sinlwt+a) a=k-r+o,
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E, = E,, sin(wt + o)

Ey = E,, sin(wt + ay)

Eg = E\ + By = E,, sin(wt + o) + E, sin(wt + ay)

sin{A + B) = sin Acos B + cos Asin B

Er=(E,, cosay+E, cosay)sin wt+(E,, sinay+E,, sin ay) cos wt




by woluw b Z1901 g o 99

E, cosa = E,, cosay + B, cosay

E,sina=E, sino + E,, sinay

Fr=FE, cosasinwt+ E, sinacoswt

Ep = E, sin(wt + a)
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E' = Ef,1| -+ E:r + YE, E,, cos(ay — ay)

E, sina, + Eor sin oy
E, cosay + E,, cos ay
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Ey = \Ysin(wt+n/f+m/Y) = \Y sin(wt+ Y7 /¥F)
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E., = YA, #sin(wt + \)\Y) = YA,# sin(wt + °,YYY)
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E, = E, sin(kz — wt)
Ey = E, sin(kz +'wt)

Egp = E\ + E; = E, [sin(kz + wt) + sin(kz — wt)]
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sina 4+ 8in 8 = Ysin ?(a—l— 5) cos?(a - f3)
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Egp = (YE, sinkz)coswt oSl rs
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Egr = (YE, sinkz)coswt Ep = A(z)coswt

A(z) = YE, sinkx
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